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mﬁi@m on this paper iﬁ;saif s

k (1) Find the valwe of % based on the mferma&m in

" the figurs s
P

| (2) The. speed of a bus which is travaltmg 2t umfcﬁn .

speed is 32 kilometres per hour. Find the time it
takes to travel 123 kjiamaﬁ'es _

""{:«) L’A {muit&pksﬁl}axﬁ
- B= {mtﬂtapiﬁs of 3} wrtﬁemeiem: ot of theset

A’ﬂB

(4‘) Thers are 60 identical red aﬂd blue baﬂs in &bm;, |
_The probebility of a bau picked 2t andom frem -

this box being blue 19— How many red balés are
there in the box? '

(5) The ce.n:ﬂse of the circle in the ﬁguxe is 0 Fmd

: fhe value of x based on the grven mformatmn v

(6) Write two mﬁegers which &re 1ess than 8 whmh
sa:txsfy the mquahty Sx 22z 13 :

oTpnAtio : ﬁeﬂgma,mtwo

relatwnshaps that @ﬁst beﬁweem DE and BC..

(8) Factonza BxE 13:: 10
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; m@emzofﬁff i50. Whatfraetxon of the area |

ofﬁ&apa@eﬂﬂlw}’@ﬁfisfhe areaof&ze

" ﬁg a;zman of the smight hne whwh

M&ammm,a)m @, 5)

(m) mm&mmmmo el

figure is 5 em. an&akng&of&emm
basedo&ﬂmgwenmfoma&m S

ﬁevﬂueofahembashmestﬁnatedas

Eaﬂhavamwffr
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Rs 25 000 by the trban councl, If the council | -
: ’zg_lmkslﬁ()asmtesfmaqammnm*
Mae,f*mdﬁemaaimtﬁpmnﬁgeﬁxazm '
. charged.

) Te pomts AB.C "D s e cn'c!e

Awith centre: 0 as shown mﬁ;eﬁgure Find the |

;iﬂ d E i the. f*u\ﬂ‘ﬁﬂ- 4‘33 B 5&13’911 in i.]b‘- .
ﬂgm’e Fmd the length of A( ham& ot mnf
gnmmfammhon DRI P RN T

7 : (16) Apersoﬁwhﬁbemwedéﬁﬁﬁmpeesea_

e mangle POQ?

smpiemtoreﬁ,seﬁledm!matmemdufa

-year by paying 6480 rupees. Whausme
' amua!snnplemﬁmstmteﬂaatws
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) Solvelx-1=1 ¥

i »aamﬂmmﬂﬁgwsisés” If

D (l%:«meneaamp!eﬁeweﬂammkma
-+ days. Aﬂ&mhagZdays,twoofthe
enﬁtﬁdlﬂﬂwmmmdaysmﬂﬁ

(20) Tha mean csf & fmquemy disuibum is '.

15. The asamednwam»s 125 Fmdthe mesn :
ofthedewatm&s : o 1

“3menm¢um@etetke L

(i ) B, Q,R aﬂdS arefaan*oathaﬂncle. |
" in {he figuss. Also,PS == .&ﬁ E‘S@R x S

: mdPSnm;emafm

(2..) Fmdiﬁamcmon malﬁp!* “‘t:he e
terms Syl Zx} 4x. .

I

1 (24) “Seman wlw mv&ﬁdiﬂa]ﬁ'y éf-

“which @ share is 25 rupees, .
dmémda of 2 rupee gﬁ:.ﬂ%mre, msﬁ-ed

s a5 dividends 2t the end of 3 year. Fmd .
fhe amoamt he mvasted in th;e cumpmy .

' zOf az
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A xzswer aﬂi qzﬁ«emicm on i&aua pﬁp@ﬂ' m«aﬂz{, _

() Ofa smupefsmﬁmts loaraing eiﬂigr.musicnfzaa, th_e_ fraotion that earas arti .
() Whaifraction of the group leams musc?

TR ":Ebfﬂié students who learn music a!sd learn danoém
- By what fraction is the smdeats in ‘ths gmup who leaxr dancsng lecs than the sfuuems |
- who learn ait‘? ' o , ,

iy I the number of smdmts “vho 3eam mmsic but nct dancing in 18, how many rgmww" ’
Ieﬁmmaazo? el E T _ o s

B {”) The figurc thWb & rough sketch of 8 rectanguiar garden. Flowers have ‘bm grown in the two
. sections named A and B whlch are in the shape of sectors of circles, and grass has. ‘heen grown mibe

remmnmgsecﬂon(Usa-—forthevglueo‘x)

- () Find the frimetorof th seoion in which rase has been grows.
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(i) ¥f a semicircular section of area equal i '
Has ion qual to the difference between the areas of A a
to be separated out within this garden, find the radius of this semicircle. B has

(3) (a) Nimal took a loan of 50 000 rupees at an annual compound interest rate of 6%. How

much
does he have to pay in total at the end of two years to settle the loan?

(o)  The initial 1 200 000 rupees of the anrwsl income of a businessman is éxemp from tax.
An annual tax of 15% is charged on the income above this amount. How much fax does a
businessman whose annual income is 2 600 000 rupess havs to pay?

(4) Thers are 150 identical balls in four different colours in a bag. The probability of a ball
pickad at random from the bag being of a particular colour is given in the following table,

Colour Blre Greea Bed Yellow

0.4

Probability : 02 0.3

0] What is the probability of a ball picked at random from this bbx being yellow?

- How ma.n‘yv‘ green balls are there in the box?
How many more red balls are there in the box than blue balls?

red balls identical to the above balls are placed in the box. Now what

Suppost another 20
a ball picked at random from the box being red?-

is the probability of
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° uniem ﬁw qszeamo.ms i om Paﬂ A s;rqd ﬁve qamsﬁmas ii’mm :r?mrt B amd answer emcﬂy

" 10 qmestmaw

Xach agisestma carrias 10 marks. , ~ L
The voloms of 2 nwm circular (cyliuder of basa mﬁm r amd Mgﬁn 51 is w*?z Rud

the wmmsae of a srshem of radius v L rfr"

-
Nl

E’ah A

(1) Sunil dﬂpamt 50 000 mpces for a yaax in o financial msnmfe wmch pays an a.nrm&l snmp}e

merest rate of 8%, At the end of the year he spends the tota! amount he recoives from the depnst:
to buy shares w 'rtn 25 rupess per share, of & company which pays dividends of 2 rupees sh-m :

S
T

K hf* sells all the shares at 28 rupees per share after receiving t?:ﬁ davsé,m:s atihe end.of mn ¥
i1 tora) income for the teo years. . : : _ v

) {0 Asn i;‘-.{m ~lets ta!:!e prepamtu dl'in the graph o: Fae fi f.mc tony = (x4 1 (x -3y

’ c'ix‘--*f.x 'b'«’if)w ,

[ETE
R

i) I‘xl! in the biank in thn table '
(s‘} Usmg a smtaﬁle scale, draw the graph of the above ﬁmcnoa onthe gmph pape; that is

(e) Draw the graph of
vatue G*V%taﬂxe nearestﬁ:stdemmal pi&c@ B

e 1)un£¢;s -
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;:3 - platis B0 constiuet 4 fenos around his. gards v joining 12 whe ﬁ"smﬂ% s togss
e s*rm:fz sach f"mw ""ac n@@df 14 gai;’:sﬁaf W;’ r2 of ieagm; 5 um {,? *’m, .11 cm, {' whi
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ok

cirois fom 4

gwen ham
N‘iadmmtmﬂ A,

if ﬁl» set of s@dmtsemd’: g mamematms is dmm od | by M’ ':he s@i‘ of sméwts mﬁ ing u -’é 3
demt@d by.é. ?aé the. sst of s "zdeuts studying dancirig is denoted by Q ucnl f ‘ '
mA) =15, n(M) =35, n{ﬂ} = m 'n(A n M} = § i ,agM nD)=18.
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{12) Thesosuire of tho seraigicle shows in e g is 0. Moveover, B and £D ws tgentn.
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